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@ The transve#‘é displacement at position .LE/ and time ¢ in a strifiéﬁ due to a travelling wave is given by y(r,t) =
3.0 cos (mx — 4nt) cm, where z is in centimeters and ¢ is in seconds. Which of the following statements is wrong?

Maximum value of transverse velocity of any point is 127 cm/s and wavelength is 0.2 m.

Transverse velocity at t = 0 and = = 0.25 cm is 61/27 cm/s.

A

AB| Speed of wave propagation in the +ve z-direction is 47 cm/s.
C
D

Maximum value of transverse acceleration of any point is 4872 cm/s?.
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Maximum value of transverse velocity of any point is 127 cm/s and wavelength is 0.2 m.
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3.0cos (mz — 4nt) cm,

Speed of wave propagation in the +ve x-direction is 47 em/s.

Transverse velocity at ¢t =0 and = = 0.25 cm is 61/ 2 cm/ s. A - 3 M

Ol Q] R |*&

Maximum value of transverse acceleration of any point is 4872 cm/s.
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A| Maximum value of transverse velocity of any point is 127 em/s and wavelength is 0.2 m. ?\ = 0. 02| m
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